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If C.P =%3360.00 and S.P = X4560.00, then profit =
(i) X1280.00 (ii) X1200.00 (iii) %1430.00 (iv) %X1170.00 (v) X1060.00

If C.P =X1530.00 and S.P = X1410.00, then loss =
(i) X135.00 (ii) X108.00 (iii) X¥120.00 (iv) X106.00 (v) X138.00

If C.P =X2280.00 and S.P = X2370.00, then profit % =
(i) 1.95% (ii) 5.95% (iii)) 3.95% (iv) 2.95% (v) 4.95%

If C.P =%2800.00 and S.P = X2590.00, then loss % =
(i) 9.50% (ii) 5.50% (iii) 8.50% (iv) 7.50% (v) 6.50%

If C.P =X1940.00 and profit = X60.00, then S.P =
(i) X2180.00 (ii) X2130.00 (iii) X1740.00 (iv) %X1930.00 (v) X2000.00

If C.P =%1920.00 and profit = ¥2220.00, then profit % =
(i) 115.62% (ii) 93.62% (iii)) 121.62% (iv) 112.62% (v) 140.62%

If C.P =%2360.00 and profit % = 7.20%, then S.P =
(i) X2270.00 (ii) X2680.00 (iii) ¥2530.00 (iv) X2510.00 (v) X2770.00

If C.P =X1130.00 and profit % = 211.50%, then profit =
(i) X2530.00 (ii) X2560.00 (iii) %2220.00 (iv) %X2390.00 (v) X2140.00

If C.P =%2730.00 and loss = X450.00, then S.P =
(i) X2520.00 (ii) X2280.00 (iii) X2100.00 (iv) X2050.00 (v) X2310.00

If C.P =32100.00 and loss = X680.00, then loss % =
(i) 27.38% (ii) 37.38% (iii) 29.38% (iv) 35.38% (v) 32.38%

If C.P = 4040.00 and loss % = 65.35%, then S.P =
(i) X1620.00 (ii) ¥1400.00 (iii) X1560.00 (iv) X1260.00 (v) X1250.00

If C.P =%3690.00 and loss % = 5.15%, then loss =
(i) X197.00 (ii) X190.00 (iii) X216.00 (iv) X168.00 (v) X185.00

If S.P = X3460.00 and profit = £30.00, then C.P =
(i) ¥3190.00 (ii) X3260.00 (iii) X¥3610.00 (iv) X3430.00 (v) X3650.00

If S.P = X3850.00 and profit = X780.00, then profit % =
(i) 25.41% (ii) 28.41% (iii)) 20.41% (iv) 22.41% (v) 30.41%
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If S.P = X2850.00 and profit % = 64.74%, then C.P =
(i) X2010.00 (ii) X1730.00 (iii) X1770.00 (iv) X1560.00 (v) X1650.00

If S.P =X3100.00 and profit % = 2.99%, then profit =
(i) %93.00 (ii) %90.00 (iii) %95.00 (iv) X85.00 (v) X87.00

If S.P = X1470.00 and loss = ¥510.00, then C.P =
(i) X2000.00 (ii) X2120.00 (iii) X1730.00 (iv) X1980.00 (v) X1840.00

If S.P =%1190.00 and loss = X1430.00, then loss % =
(i) 51.58% (ii) 49.58% (iii) 59.58% (iv) 54.58% (v) 57.58%

If S.P =X1170.00 and loss % = 47.30%, then C.P =
(i) X2220.00 (ii) X2100.00 (iii) X2080.00 (iv) X2370.00 (v) X2390.00

If S.P =X1150.00 and loss % = 59.51%, then loss =
(i) X1870.00 (ii) X1690.00 (iii) X1430.00 (iv) X1820.00 (v) X1540.00

Find gain formula.

(i) S.p—=M.P (ii)) M.Pp-C.P (iii)) S.P—-C.P (iv) C.P-S.P

Find loss formula.

(i) M.p-C.P (ii) S.P—C.P (iii) S.P—=M.P (iv) C.P-S.P

Find gain percentage formula.

_ SP-CP _ cpP-spP _ cpP-sp  SP-CP
(i) I x1001% (i) I x1001% (iii) [ x1001% (iv) [ x100]%
c.p S.P c.p S.P

Find loss percentage formula.

(i) [S'P_C'meow (ii) [C'P_S'leoow (iii) [C' ~x100]% (iv) [— 'Px100]°/
' C.p o M S.P o C.p o W S.p °

Find selling price formula.

100 + loss% . 100 100 100 + gain%
- P (ii) C.P (iii) C.P (iv) - XC.P

(i) xC. X X
100 100 + loss% 100 + gain% 100

Find cost price formula.

100 + loss% 100 + gain% 100 ) 100
(i) XS.P (i) XS.P (iii) P (iv) X
100 + loss%

—— XS, S.P
100 100 100 + gain%
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1) (ii) 2) (iii) 3) (iii) 4) (iv) 5) (v) 6) (i)
7) (iii) 8) (iv) 9) (ii) 10) (v) 11) (ii) 12) (ii)
13) (iv) 14) (i) 15) (ii) 16) (ii) 17) (iv) 18) (iv)
19) (i) 20) (ii) 21) (iii) 22) (iv) 23) (i) 24) (iii)
25) (iv) 26) (iii)

Copyright © Small Systems Computing Pvt. Ltd.



